S8¢ 8T £9C |ejol
G8¢ 81 £9¢ ANyuy
0 0 0 apimAjuno)
o5 3 < O
m:+* g m@
= o O
E o
(=]
) ]
H = Swien 1ouUpald
[eloL
- 10JBUSS S91e)S pajun Jod
08¢ 14 vez |ejoL
08¢ 9 Pee ANYuy
0 0 0 apimAJuUNo)
T O T O
s 3&
o) o
(1] w
(=3 (a)
[=] =
3 8 Jwen Punaid
[el0L
- 10JeUdS SIBIS Palun o4
[4:14 0 0 T LT ¥9¢ jejolL
0 0 0 0 0 ol 1uapisay Jswio4 10 MaN
8¢ 0 0 1 LT t9¢ nyuy
0 0 0 0 0 0 apimAIuNo)
og @ 253 ¥ -ao =332 235
Qoo o 2 =0 oS o5 5
3 -3 > = z e g o .
c o ga e = 3
a c A ® o = o alweN PuPald
T o 3 o)
[e10L >3

- S2)1BIS PajIuN 2y} JO JUSPIS3I IDIA Pue JUIPISALd 404

Auno) Jnyuy
$20Z 'S0 JaquIBA0oN - UOND3|3 [eJausD




cUcUI rELLT L= ]
J0 pieog Jo4 ab3jj0D
Ajunwiwo) suteld-piiA

91¢ 99 0SsT |ejol
91¢ 99 0ST nyuy
0 0 0 apimAlUN0)
= <
o ]
awen 1puRald
|ej0.L

SCULIMN = eV
ur pauleIal 3q undely 'Y N 36pne 1eyS

11C ST 96T jejol
T1¢ ST 961 Inypy
0 0 0 apimAIUNoD

= o = W o

o w oo

e é 3 e g =4

o ™ 3 m
e Pupald

|ejoL

£00d1 - 21meisiba ay) JO Jaquisiy o4

€8¢ LT 99¢ |ejol
€8¢ LT 99¢ Inyuy
0 0 0 apImAIUNOD

(=] o =

Tg| &%

o =]

g [%2]

m 3
3 = awepN PuPald

|1eJ0L

£00092 - ssa4buo) ul aAnejuasalday o4




ZT9Taa - 9T
“ON JIUM) @JIAIDS |RUONEINPT

19¢C T9¢ jejoL
19¢ 19¢ anypy
0 0 apimAIUNoD
27
Ss
(]
Q
8
o)
[[zaleX R awepN puPald
TOSTAN -

s101311Q Jo pIeog 104 PUIsa
S90IN0S9Y |ednjeN ane|d UM |

0T 0T< IejoL
01¢ 01¢ Inyyuy
0 0 apimAuno)

Za

Us

=

=

=

=]
[e10L = awen pudald

IVEQJT — Ao aIonuT)

jo pieog 104 abie 1y 869j0D

Aunwwo) suiejd-piiy

[eYoL

(4114 [4\[4 jejol
[4{)[4 202 nyuy
0 0 apmAJuno)

Z =

O o

2z

o)

awep puPald




1sueby

104

Dwep 1pupald

|ejoL
- 9E DINSe3ly dANeNIU]
09¢ TST 60T jejolL
09¢ 161 60T ANypy
0 0 0 apimAlunod
rl =
(1} (1]
® o
o 3
QLUBN PuUDald
|ejoL
- GEp 2INSED| WNPUBIDJDY
SLT <L €0¢ 1ejo0L
SLC [44 €02 anyuy
0 0 0 apimAuno)
& 3
o E
2
awep puald
|eoL

- pED 2INSEI| DANRNIU]

LST LST jejoL
JAST4 JAT4 Inyuy
0 0 apimAjuno)
20
28
3
=
o
3 awep Puald

|01




pzar-hl-[]

TLT ST1¢ 99 |ejoL
142 S1T 9s nyuy
0 0 0 apIMAILNOD
z g
o -
2
QWEN 1URNd
|eloL
- 6EL 2INSED|Y DARNIUL
6S¢ 6ST 00T jejolL
65¢ 6ST 00T InNyuy
0 0 0 apimAlunod
3 J
o =
2
aweN Pupald
[ej0L
- §€p 2INsE3Y dANRHIU]
69¢ ¢sT LTIT lejoL
69¢ 4] AR S nyuy
0 0 0 apimAuno)
& J
= T
@
awen Punaid
[230L
- /€ 2INSE3Y dANIU]
i 4°T4 EET TCT |ejolL
12T4 £ET 121 INydy
0 0 0 apimAIunNoD




